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e Instructions e

1.  Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:

- Serial number of Question Booklet(QB) and OMR Answer Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question

Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,

candidate will be liable for the same.

Read all instructions on the reverse of OMR Answer Sheet.

On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sheet.

If more than one response is marked for a question, it would be treated as wrong answer.

1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect answer or more

than one answers for any question).

6.  Each question has five options/circles. First four options/circles (A), (B), (C) and (D) are related to appropriate answer and fifth option/
circle ‘(E)’ is related to ‘Question not attempted’.

7.  To indicate the correct answer, the candidate has to fill in only one option/circle (A), (B), (C) or (D) with blue ball point pen for
respective question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth option/circle
‘(E)’ should be darkened.

8.  1/3 part of the marks will be deducted for the questions, if none of the option/circle are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

11. [Ifthere is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the English
Version will be treated as final.

12. Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.I.R will be

lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for

Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of imprisonment of

10 years to life and fine up to ¥ 10 crore. Board may also debar him/her permanently from all future examinations conducted by the Board.

Do not open this test booklet until you are asked to do so.
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Which of the following enzymes helps in the breakdown of
fats during the process of digestion in the human body?

(A) Amylase (B) Trypsin

(C) Pepsin (D) Lipase

(E) Question not attempted

If the two alleles for a particular gene are identical, then the
gene pair is called:

(A) Homozygous

(C) Recessive

(E) Question not attempted

(B) Heterozygous
(D) Dominant

Which of the following countries will host the Asian Games
in the year 2026?

(A) India (B) China  mgm

(C) United Arab Emirates (D) Japan E?ﬁ

(E) Question not attempted

When was the first Foundation Day of the Lokpal of India
celebrated at The Manekshaw Centre, New Delhi?

(A) 16 March, 2015 (B) 16 January, 2025

(C) 16 January, 2015 (D) 16 March, 2025

(E) Question not attempted

What was the theme of the Indian Union Budget 2025-26
presented by the Finance Minister of India?

(A) Digital India

(B) Sabka Vikas

(C) Next Generation Reforms

(D) Vasudhaiva Kutumbakam

(E) Question not attempted

The Prime Minister of India visited which National Park to
chair the 7th meeting of the National Board of Wildlife on
March 3, 2025?

(A) Gir National Park

(B) Ranthambore National Park

(C) Kaziranga National Park

(D) Jim Corbett National Park

(E) Question not attempted

In which state of India is the “Neermahal festival”
celebrated?
(A) Assam
(C) Meghalaya

(E) Question not attempted

Which city of Rajasthan hosted the 12th Regional 3R and
Circular Economy Forum in Asia and the Pacific?

(A) Jaisalmer (B) Jaipur

(C) Udaipur (D) Jodhpur

(E) Question not attempted

Which of the following awards was conferred to Shri Sheen
Kaaf Nizam (Shiv Kishan Bissa) of Rajasthan in the year
2025?

(A) Sagar Samman Award (B) Padma Vibhushan

(C) Padma Bhushan (D) Padma Shri

(E) Question not attempted

(B) Tripura
(D) Nagaland

Which of the following Ministry of the Government of
India, is organizing the National Integration Camp,
Rajasthan 2025?

(A) Ministry of Tribal Affairs

(B) Ministry of Youth Affairs and Sports

(C) Ministry of Health and Family Welfare

(D) Ministry of Agriculture and Farmers Welfare

(E) Question not attempted
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11 SHe 2025 5, reidi-shrefifEg-=ierel-qat Tsre T et TRisET
(PKC-ERCP) foieh UGS T A1 siaeieht 7T 2 fom mram 22
(A) THSI & fofsh TRETSHT (RSLP)

(B) ST & fofe afeisMT (JSLP)

(C) 1™ e foieh 9fEISHT (RILP)

(D) 3Tq S fofeh TREISHT (AJLP)
(E) Agafasg

12 TSI U9 9912 2025-26 % ATAR, f68 T o o Raeftn
aTeh T fopam SIram?

(A) Teritere (B) =i
(C) 3&Ax (D) SR
(E) 3¥gaia g

13 freafafied & @ -t w2 fowen o1q & =+ 2t @ i ang
SATHFATEE U AU BT 8,31 [Seehl ST Wenor &rar sfisft 3fiv
st 7 Bl 22
(A) TR few® (B) ATt few
(C) e (D) Frige feeh
(E) 3¥gaiaug

14 Frogz o, frafafiad 3§ 8 FH-A1 gieeast @eer i b
F % foe fesmea form mar 22
(A) Tearza givesr (B) foreem diweaR
(C) At Wivear—r (D) UfteTehyH TTRaTT
(E) 3¥gaia g

15 FH I wel AU Ghrem 1 T I F1 27
(A) TS ! e | fe
(B) TEIUE YT | AT ST
(C) S STHehd! o fTT SATchard TSl 1 Ueh §HE ST
(D) TEATES Sl AT St
(E) Irgafa s

16 =8 2% YUET SUHIT Sil S FAFIH F HIEHH H A el
SRR 3 fhoet HidT &, FHedldl o
(A) T (B) FHh
(C) shehdl (D) HREE
(E) rgafd 9

17 38§ BCC %1 99 919 2:

(A) SETEE FARM R (B) Scich dhelda it
(C) =ik ShIeid shidT (D) SETEE FHIsH T
(E) 3¥gaia g

18 9T Gfaem ¥ Wit shdoal ol fore Ter & Areqq 8 sier
TRIT 92
(A) 42ai m B 443t
(C) 50at i (D) 36at
(E) 3rdfa v e

19 WA Sad™ o ST=se 217 % ded, Fefofad § 4 4 3=
AT o =ArAeien 1 Ffh rar &2 (e | 9wl 3ugh
[EETRRCC))
(A) T 1 qeIHHT (B) WTCd =1 T4 531
(C) T T ITSgHf (D) TST T HETIETh
(E) 3rgafa g
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In January 2025, Parvati-Kalisindh-Chambal-Eastern
Rajasthan Canal Project (PKC-ERCP) Link Project has
been renamed to -

(A) Ramjal Setu Link Project (RSLP)
(B) Jal Setu Link Project (JSLP)

(C) Ram Jal Link Project (RJLP)

(D) Anmrit Jal Link Project (AJLP)
(E) Question not attempted

=
e
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According to the Rajasthan State Budget 2025-26, a toy
park will be established at:
(A) Chittorgarh

(C) Udaipur

(E) Question not attempted

(B) Kota
(D) Jodhpur

Which of the following storage disks is made up of metal
and coated with metal oxide, and also have data storage
capacity in GB and TB?

(A) Hard Disk

(C) Blu-ray Disk

(E) Question not attempted

(B) Floppy Disk
(D) Compact Disk

In Computer, which of the following software is designed to
control operations?

(A) Device Software

(C) Utility Software

(E) Question not attempted

(B) System Software
(D) Applicatiion Software

What is the main purpose of the feature called “Mail Merge”
in Word?

(A) To Print documents in bulk

(B) To create document in pdf format

(C) To create a batch of documents that are personalized
for each recipient

To check spelling of a document

Question not attempted

(D)
(E)
The network security program or device that filters the
information coming through an internet connection is
known as:

(A) Hackers

(C) Crackers

(E) Question not attempted

The full form of BCC in E-mails is:

(A) Blind Collection Copy (B) Black Collection Copy
(C) Black Carbon Copy (D) Blind Carbon Copy
(E) Question not attempted

(B) Cookies
(D) Firewall

Through which Indian Constitutional Amendment, were the
Fundamental Duties incorporated?

(A) 42%d (B) 441

() soh (D) 36"

(E) Question not attempted

Under Article 217 of the Constitution of India, who among
the following appoints the Judge of a High Court? (Choose
the most appropriate option from below)

(A) Chief Minister of the state

(B) Prime Minister of India

(C) President of India

(D) Advocate General of the state

(E) Question not attempted
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(D) TG T GSET &l & Hehll

(E) ¥gafaud
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(E) gaid 9
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(A) AT =% HeFaTeT (B) gz &g v@mea
(C) ITgE T M (D) Trafare fiet
(E) Fgafa s

TSTET 34 AT HI & W13 Fef feerd 22

(A) SEX (B) SET

(C) 3R (D) 3T

(E) a9

TSR H g [ & ATHIH HEI(CAZRI) F1
AT e 8o &7

(A) S (B) S
(€) B (D) SR
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Which of'the following is not the necessary qualification for
the appointment of a Governor in a state?

(A) Must be a citizen of India.

(B) Must be a member of the Lok Sabha.

(C) Must be at least 35 years of age.

(D) Cannot be a member of the Rajya Sabha.

(E) Question not attempted

Who is the head of the council of ministers who aid and
advise the Governor in the exercise of his/her functions,
except in matters where the Governor acts in their discretion?
(A) District Collector (B) Minister of Home Affairs
(C) Chief Minister (D) State Finance Minister
(E) Question not attempted

Who is the Speaker of the 16th Rajasthan Legislative
Assembly (as of June, 2025)?

(A) Kailash Chandra Meghwal EgE

(B) Deependra Singh Shekhawat [

(C) Vasudev Devnani

(D) Ram Niwas Mirdha

(E) Question not attempted

Where is the principal seat of the Rajasthan High Court
located?

(A) Jaipur

(C) Ajmer

(E) Question not attempted

(B) Jodhpur
(D) Udaipur

Where is the headquarters of the “Central Arid Zone
Research Institute” (CAZRI) located in Rajasthan?

(A) Jaipur (B) Jodhpur

(C) Bikaner (D) Jaisalmer

(E) Question not attempted

Sawai Jai Singh, in the year 1734, organized a conference of
all the rulers of Rajasthan to face the Marathas effectively
and stop their entry in Rajasthan. What was the name given
to this conference?

(A) Hurda Conference (B) Sanganer Conference

(C) Ambabari Conference (D) Jaipur Conference

(E) Question not attempted

Who among the following was imprisoned at the Todgarh
Fort for organizing a revolt against the British?

(A) Pratap Singh Barhat (B) Daulat Mal Bhandari

(C) Sagarmal Gopa (D) Rao Gopal Singh Kharwa
(E) Question not attempted

Which of the following princely states was not part of the
Matsya Union, during the integration of Rajasthan? (Choose
the most appropriate option from below)

(A) Alwar (B) Bharatpur

(C) Jaipur (D) Karauli

(E) Question not attempted

Name the famous musician who was awarded with the
famous Grammy award and who also invented Mohan

Veena.
(A) Pt. Vishwa Mohan Bhatt  (B) Jagjit Singh
(C) Allah Jilai Bai (D) Tla Arun

(E) Question not attempted
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29 39 YAER H A0 FA1EC SO 99 1956 H “TSEAH g
BLICERERICRIR
(A) FHIHA HISH (B) FuTet T4 wr@mea
(C) e fie (D) YT = et
(E) gaid 9

30 T TEY fopdl & i 72 faF § 9 wehan 21 =R e ST uie
q%waﬁﬁﬁwwﬁmaﬁmzﬁﬁwwwmlw
wfeer 38 M i o fo § qu ot 2
(A) 144 (B) 90
(C) 135 (D) 180
(E) gafdug

31 U AT A 6 %2 H 325 fopwl 61 A 1| @i 364 F gl
T g 40 FRi/sier 1 i & @ 1 GO A g I g 65
opel/efe 1 i & 1 61 SE Pt g1 (Rt ) Yo g
Y
(A) 221 (B) 229
(C) 211 (D) 230
(E) Agafayd

32 UH WA H 1200 B 9Gd 8l I T AH-H F (T -
ST UEE HTEHT T 99 Hid & B G B SHF
Gftae ATeET o 9T Teh UTE TR | 271 T 2

TRABH A SA T8 R i s

TTEfoRe o T B
(A) 13,26 (B) 12,24
(C) 15,30 (D) 30,43
(E) a9

33 frforfad wreat A & AraarE T3 FT 3SR €
(A) Tewre™ (B) H=aTS
(C) | (D) T EI5E
(E) sifafaus ==

34 I HATCT, FET W AT H HI-81 G0 T 5311 82
(A) fstars gdam (B) HeHaTe T
(C) Trgrams gaam (D) AfgEEmES g™
(E) a9

35 freAfeTRad st | § forem sterve foRaT o1 SnT 8t gt 82
(A) Y9 G R (B) T T 2
(C) wRY @i 2l (D) THgaT Rl
(E) orgafid 9

36 “TTHRN 3 T FATHI 1 T €17 56 a1 H fop fagreor
T T 5T 22
(A) GETET e (B) eI fargmor
(C) TrETE faRryor (D) uftTuraterss fargreor
(E) Agafaug
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Name the journalist who started the newspaper “Rajasthan
Patrika” in the year 1956.
(A) Komal Kothari

(C) Birbal Singh

(E) Question not attempted

(B) Kripal Singh Shekhawat
(D) Karpoor Chandra Kulish

One man can do a work in 72 days. Four men and five
women worked together and completed the work in 12 days.
How many days will one woman take to do the work?

(A) 144 (B) 90
EaE
(C) 135 (D) 180 )

(E) Question not attempted

A person travels 325 km in 6 hours. At first he travels some
distance by bus at the speed of 40 km/hr and then he travels
the remaining distance by train at the speed of 65 km/hr.
How much distance (in km) did he travel by train?

(A) 221 (B) 229

(C) 211 (D) 230

(E) Question not attempted

In a school 1200 students are studying. They choose
different means of transport for coming to school. Number
of students are represented with their means of transport in
a nie diagram.

360 students
bicycle

180 students
walking

516 students
school bus

percentage of students go to school walking and
percentage of students go by bicycle.

(A) 13,26 (B) 12,24

(C) 15,30 (D) 30,43

(E) Question not attempted

frferfiad wreal § & WTaaTeh T 31 SaTE 2
(A) femrer (B) Hemg

(C) aw1 (D) ot

(E) Question not attempted

ST FHTCT, TeT W FTH H HIH-HT TSI T T 22
(A) TrETes gdam (B) EeieraTeeh g4
(C) ferramas gdam (D) ferraTas gdam
(E) Question not attempted
fomferfiad arei & @ fora sterden foram <61 e 1t ot &7
(A) Y9 HHT R (B) T =TT 2
(C) WRY @i 2l (D) THYEAT?
(E) Question not attempted

“GTHTL A T FHATHI ] AT 1 39 a1 | fohey forgror

T TR EAT 22

(A) TEATETE oo (B) THTIE farmor

(C) ToraTers o (D) ufeHTOTSiTereh fergror

(E) Question not attempted
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T T qEH IR B

(A) = (B) wdf

(€) & (D) T=F

(E) Sigaia ug

T2t o Ik &1 AT “ATCIe” X153 R T & 37T 22

(A) ERE (B) TH

(C) (D) gt

(E) orgafd o

freaferiad 5 & - Tereer, 3t & wibg i v e
1 SrfaHgeaql Hid 27

(A) I3t (B) ST

(C) Hoor (D) FHaHs

(E) Agafayd

HIT, Y, FATETS R AN & § TG ®9 4 Sl S el
Sl T & (el ST 3L H):

(A) HaTdt (B) W=t

(C) wrerdt (D) @t

(E) gafd 9

12T ST IE! 1 Tk 1 T 41 82 (1 8 g 397
[EETEACE)

(A) HIeT TieT ugt |ret (B) hIT SHTCH At

(C) e A Hrel (D) =T Ty argt

(E) gaid o

freaferfiaa & & -1 TSTeTT STy S e aee s 22
(A) T (B) #MHW

(C) QMU (D) @R

(E) 3¥gafaug

frfafiad § & HH-81 9w, g JeRE & e &
Sfad AT ?

(A) TS (B) dmI

(C) TFUTEeT (D) TaamT
(E) ¥gafaud

TorsE 9T o HEITI T AT STy

(A) B) g~

(C) SISty (D) Fsit
(E) rgaidu

1o HET ok TEH-THI < foIT STaqe 57t < siier o are
T T T foher 12

(A) FuS R I@Ed  (B) TS Fiow
(C) T=md qerd (D) HIHd HiSH
(E) 3¥gaiagg

freaferiiad o @ =hiH-81 TS TsT 7 wdied Ao are giord

B eIt R

(A) Yferd werfiers (IGP)

(B) ford eI (DGP) CEAC)
Ofs3

(C) afte gferw tefiersh (SSP)
(D) Yferd 39 werf-ierss (fewdl IGP)
(E) 3¥gaia 9
LK33CL {+ 6 6 6 6
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(B) Tt EISE
(D) S@ E- HH

BT’ T qEH I T

(A) ™

(€ W

(E) Question not attempted
Tt ¥ I B AT TS o] Foh |THT § 37T 82
(A) FRE (B) TH

(©) it (D) et

(E) Question not attempted

Which one of the following is the monumental works of the
famous poet, Suryamal Mishran of Bundi, Rajasthan?

(A) Urvashi (B) Kamayani

(C) Sansmaran (D) Vir Satsai

(E) Question not attempted

The dialect majorly spoken in Kota, Bundi, Jhalawar and
Baran region is called (Choose the most appropriate
answer):

(A) Mewati

(C) Hadoti

(E) Question not attempted

(B) Malawi
(D) Dhundari

What is the another name for the Kota Doria Saree? (Choose
the most appropriate option from below)

(A) Kota Gota Patti Saree (B) Kota Banarasi Saree

(C) Kota Cotton Saree (D) Kota Masuria Saree

(E) Question not attempted

Which of the following Rajasthani ornaments is not worn
on the feet?

(A) Nupur

(C) Daamna

(E) Question not attempted

(B) Jhanjhar
(D) Langar

Which of the following instruments, falls under the
classification of “Sushir” instruments?

(A) Algoza (B) Tasha

(C) Ravanahatha (D) Ektara

(E) Question not attempted

Name the founder of the Bishnoi sect.

(A) Pipa (B) Dhanna
(C) Jambhoji (D) Harbhuji
(E) Question not attempted

Who founded ‘Rupayan Sansthan’ at Borunda in Jodhpur
district for the promotion of folk culture?

(A) Kirpal Singh Shekhawat

(B) Karpurchand Kulish

(C) Acharya Tulsi

(D) Komal Kothari

(E) Question not attempted

Who out of the following, is the highest ranking police
official in Rajasthan state?

(A) Inspector-General of Police (IGP)

(B) Director General of Police (DGP)

(C) Senior Superintendent of Police (SSP)

(D) Deputy Inspector General of Police (Deputy IGP)

(E) Question not attempted

6 6 6 6 6 6
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47 WWFEF!TW’T (WW)WWW%&TW a1? 47 When was the Rajasthan Information Commission (RIC)
(A) 2008 (B) 2006 constituted?
(C) 2007 (D) 2009 (A) 2008 (B) 2006 EI5E
(E) Wgﬂ (C) 2007 (D) 2009 E¥

(E) Question not attempted
48 SIS YT A SAIHR AT (2005) IR GHT S AR G,

. 48 Which of the following Acts was repealed when the Right to
e frferfaa & @ Fa-a7 stfefem fe 5 i m o £ P £

Information Act (2005) was passed and came into force?

(@ FIS‘!T@WT s, 2002 (A) Freedom of Information Act, 2002

(B) HEFIT@WT srferfem, 1990 (B) Freedom of Information Act, 1990

(C) =T o g sfufm, 2001 (C) Access to Information Act, 2001

(D) aqﬁma’aj’ﬂ srferfm, 2002 (D) Personal Information Act, 2002

(E) ITafa (E) Question not attempted
49 freaffiad § @ FF-E aTd, FO Gehe o A, B B 49  Which of the following metals cannot displace copper from

forceia T o T ~ copper sulphate solution?

(A) Zinc (B) Iron

(4) Ei'f-_clT (B) St (C) Silver (D) Aluminium

(C) = ) Q?\iﬁlﬁ'ﬂ'ﬁ (E) Question not attempted

(E) 3Iia 94 . . . .

> - ) 50 A concave mirror gives real, inverted and same size image,

50 U adct UV § ITEdfah, 3¢l 3 HHM TR 1 Yfdferer when the object i placed:

LERIEASGIES qﬁa@ﬁuﬁﬁ% (A) at focal point

(A) HiE faig @@ (B) AW (B) at infinity

(C) Sshdl shg 9T (D) TdTHz T W (C) at centre of curvature

(E) ng (D) beyond centre of curvature
O (gfﬁ I ﬁﬁ'E‘TQ) a:rﬁvﬁawﬁméﬁmugaﬁ ('gfﬁ 1o (E) Question not attempted

) o fem 51 Match the diseases (given in list I) with the disease-causing

a1 (ﬂ"'l) TR 11 () pathogens (given in list II):
S L < List I (Disease) List IT (Causes)

& L Tfﬁ:r a. Typhoid I.  Worms

b. e IL. ﬁ[ﬁﬂul b. Malaria II.  Virus

c. TH L. Sy c. AIDS 1. Bacterium

d.  refiai IV. THITEIm (ST d.  Elephantiasis IV. Plasmodium (protozoan)

ﬁqn@ﬁa@‘fﬁﬁﬁeﬁﬁﬁ Choose the correct answer from the options provided:

(A) a-IL, b1V, ¢-III, d-1
(C) a-IIL, b1, c-1, d-TIV

(A) a-II, b1V, c-III, d-I
(C) a-IL, b-I1, ¢-1, d-TV

(B) a-L b-IIL, c-11, d-IV
(D) a-III, b-1V, ¢-I1, d-I

(B) a-L, b-II1, ¢-I1, d-IV
(D) a-IIL, b-IV, ¢-11, d-I

(E) aml’{?ro I (E) Question not attempted
52 Freaffad 9 P SERT TR w9 ¥, BE ot e 52 Whlch of -the follc-)wmg -communlty is . tr'fldltlonally
© associated with narrating stories from Phad paintings?
A ¥ ST g 82 :
S ST e . (A) Bhopas (B) Banjaras
4) T (B) i (C) Kalbelias (D) Sargodas
(C) hrersiferan (D) wlE™ (E) Question not attempted
(E) rgafid 9

53 The Amer style, Jaipur style and Shekhawati style of

53 3ATHT Iel, ST Xt TR rErErey et i Femeha, Tste

& frafariad & fore femenan St @ weiferq 82

(A) gere et (B) HaTe dreft
(C) WTaTS At (D) TR o EAE
(E) ogaid 9 B

feafafiga # 9 F-H TS § 19T €9 9 STl S0 F
foru ffifa eem e 82 (1 o & 9e8 39 foehed )

painting are associated with which one of the following
painting schools of Rajasthan?

(A) Dhundhad school (B) Mewar school

(C) Marwar school (D) Hadoti school

(E) Question not attempted

Which of the following is not a structure, traditionally
constructed for water conservation in Rajasthan? (Choose
the most appropriate option from below)

(A) e (B) Bl (A) Johad (B) Chhatri
(C) e (D) smagt (C) Tanka (D) Baori
(E) 3‘1’:!)?!'[1?[ aq (E) Question not attempted
ey g P 8 E ;:i E ey g i
LK33CL 1 7/ / 7 /o EE 7 / / / /
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TSTET | TRUT o 998 , B, T ST awTed S 7iia forg vdl
o ST LI &2

(A) fearet (B) R
©) o (D) et
(E) ogafid 9

(A) SO E (B) wien=r®
(C) i (D) mRH
(E) rgafd 9

frfafiad & § F9-81 @@ & F TE g JERkid T
ST TIoh-Fcd 2, 5Ta T feraTseht forame o STee I s T
5T T TE FIS TEd 87

(A) T B) freeT
(C) W= (D) H=3! A I
(E) rgafd o

e AT TER I (TR i) TSTE™ & fe # & forg s &
Tsifera 87

(A) ST (B) 2k

©) EEENLN (D) AR

(E) a9

ST ¥ freferiad & 8§, R @ wiTer 5Re fem 2
(A) IR (B) =&

(C) wrgaTet (D) SHETHT

(E) rgafd o

frfafiad o @ -1 31s8 RS diorer i sedrean § 99
Y TE o9

(A) HETSTETE (B) QrAifI
(C) TTTSH (D) €I E5E
(E) gafd 9 =¥

Choose the most suitable word to fill in the blank in the
following sentence:

The auditorium has a seating for seven hundred
students.

(A) capability
(C) capacity
(E) 3¥gaiaug

Fill in the blanks in the following sentence with the most

(B) capillary
(D) capitulation

suitable pair of articles:

Being M.A. only, he could not be appointed to the
post of Assistant Professor.

(A) the, an (B) a,the

(C) the,a (D) an,an

(E) rgafd 9

Fill in the blank in the following sentence with the most
appropriate determiner:
have brought you home.

(A) 1 (B) Me
(C) She (D) It
(E) 3¥gafa 9
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On which festive occasion, do groups of Rajasthani men
sing songs like Hori, Rasiya, and Dhamaal?
(A) Diwali (B) Dussehra
(C) Teej (D) Holi

(E) Question not attempted

=
T
=

Chand baori (Stepwell) is located at -

(A) Abhaneri (B) Bhndarej
(C) Bundi (D) Amer
(E) Question not attempted

Which of the following is a commercial folk-dance
performed by the men of the Shekhawati region, especially
on the occasion of marriages where dancers dresses up like
a warrior?

(A) Agni dance

(C) Gair dance

(E) Question not attempted

(B) Gindad dance
(D) Kachhi ghodi dance

The folk drama Chahar Bayt (Chaar Baint) is associated
with which of the following places in Rajasthan?

(A) Jaipur (B) Tonk

(C) Udaipur (D) Alwar

(E) Question not attempted

In which of'the following regions of Rajasthan, is Harshnath
temple located?

(A) Sikar

(C) Banswara

(E) Question not attempted

(B) Bundi
(D) Jaisalmer

Which of the following words was not there originally in
the Preamble to the Indian Constitution.

(A) Socialist

(C) Republic

(E) Question not attempted

(B) Democratic
(D) Sovereign

Choose the most suitable word to fill in the blank in the
following sentence:

The auditorium has a seating for seven hundred
students.

(A) capability

(C) capacity

(E) Question not attempted

(B) capillary
(D) capitulation

Fill in the blanks in the following sentence with the most
suitable pair of articles:

Being M.A. only, he could not be appointed to the
post of Assistant Professor.

(A) the,an (B) a,the

(C) the,a (D) an, an

(E) Question not attempted

Fill in the blank in the following sentence with the most
appropriate determiner:
have brought you home.

(B) Me

(D) It

Ay 1
(C) She
(E) Question not attempted
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Match the following sentences (given in list I) with the
appropriate prepositions (given in list II) in order to fill in
the blank of the respective sentence:

List I (Sentences) List IT (Prepositions)
a. Do not rob me L above
my dignity by
asking such a question.

b.  He threw the book II.  to

the table.
c.  The flags waved 1. of

our heads.
d.  Terrorists are a menace IV. upon

the security of
this country.
Choose the most appropriate answer from the options given
below:
(A) a-IV, b-1, ¢-III, d-11
(C) a-1, b-I11, ¢-I1, d-IV
(E) rgafd 9

Choose the option with the most appropriate use of

(B) a-IIL b-1V, c-1, d-II
(D) a-IIL, b-I1, -1V, d-I

punctuation(s):
(A)
(B)
©

e

Oh we are ruined?
B

They have been to London, haven’t they?
The jester cried help? help?

(D) Krishna is dark skinned Radha is fair.

(E) 3Fgaia g

Convert the following sentence from Hindi to English:
79 e-fvirer i st o 22

(A)
(B)
(©)
(D) Who is answerable for this irresponsibility?
(E) Agafaug

Convert the following sentence from English to Hindi:

Who is accountable for this mistake?
Who is to be blamed for the troubles?
Who should we accuse of this crime?

All my sympathies are with you.

(A) H AT 39 G Hergfd 3T gl

(B) 37Tdeh |1 TH 3 HRTgvf el

(C) Bl i weTgfer 3Tk | R

(D) ¥ 39 T H 3TT9eh |1 AT e )
(E) 3¥gaiawd

2 HEATHT % HCF 9T LCM 1 3T 1:6 21 A7 31 deeraii
UM 96 2, AT 391 LCM I1d i |

(A) 12 (B) 18
(C) 24 (D) 48
(E) orgafd o

35 e, 28 AIETT 3T 32 T69 Tsh HISHIT H T Tedeh e,
wfee ST T8 GHFA: ¥ 138, % 205 W 225 FHiwd =9
gaT| W Atk 3{red 2 ((Hepedm X = Hel) g3

(A) X185 (B) T 187
(C) X189 (D) 190
(E) Fgafa g
LK33CcL {+ 9 9 9 9
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64 Match the following sentences (given in list I) with the
appropriate prepositions (given in list II) in order to fill in
the blank of the respective sentence:

List I (Sentences) List IT (Prepositions)
a. Do not rob me L above
my dignity by
asking such a question.

b.  He threw the book . to

the table.
c.  The flags waved . of

our heads.
d.  Terrorists are a menace IV. upon

the security of
this country.
Choose the most appropriate answer from the options given
below:
(A) a-IV, b-1, c-II1, d-11
(C) a-I, b-11, ¢-I1, d-IV
(E) Question not attempted

(B) a-IIL, b-IV, c-1, d-IT
(D) a-IIL, b-I1, -1V, d-I

65 Choose the option with the most appropriate use of
punctuation(s):
(A)
®)
©
D)
(E)
66 Convert the following sentence from Hindi to English:
T T-feier i st fraehr 272
(A) Who is accountable for this mistake?
(B) Who is to be blamed for the troubles?
(C) Who should we accuse of this crime?

Oh we are ruined?

They have been to London, haven’t they?
The jester cried help? help?

Krishna is dark skinned Radha is fair.
Question not attempted

(D) Who is answerable for this irresponsibility?
(E) Question not attempted

67 Convert the following sentence from English to Hindi:

All my sympathies are with you.

(A) H I ST AR FeTMf <aT |

(B) SATI Q1 THIM 4l WETgfdl e

(C) i i wRTgfct AT |1y 2

(D) 0 39 AT | SAT9e A1 R AETHfd 2

(E) Question not attempted

68 Theratio of HCF and LCM of two numbers is 1:6. If product
of the two numbers is 96, then find their LCM.
A) 12 B) 18
(C) 24 (D) 48
(E) Question not attempted

=

LA

69 35 children, 28 women and 32 men went to a restaurant. The
average amount spent on a child, a woman and a man is
T 138,73 205 and T 225 respectively. The average amount
spent per person (correct to nearest rupee) is:
(A) T 185 (B) Y187
(C) 189 (D) % 190
(E) Question not attempted

9 9 9 ¢
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70 200 HIZT Tl Toh LML 160 Wi sl G GUTH 24 S H | 70 A train of 200 m crosses a tunnel of length of 160 m in 24
IR AT B TSIt <t Tf R 27 seconds. What is the speed of the train?
(A) 15 Tt/ sfar (B) 18 et/ siar (A) 15km/hr (B) 18km/hr  EEE
(C) 54 Tereft / =iar (D) 72 et/ siar (C) S4km/hr (D) 72km/hr ELE
(E) aaﬁﬁﬁgg (E) Question not attempted
7 wﬁﬁaﬁwq@? 7,500 F =1 9T 20% T ST BIdT & 3ﬁ'(3;'€|3( 71 If Renu gain 20% profit by sel}ing one purse at
a6 T T 8,550 F ST T 5% T BT Bl 21 ST <A B0 AT g 7,500 and. have loss of 5% by selling another purse at
210 3 Rray vl % 8,550. Will she have gain or loss and by how much
A 3.72 % B) o, 5.24 % percentage?
(&) =, 0 (B) =, 0 (A) Loss, 3.72 % (B) Gain, 5.24 %
(C) T, 6.26 % (D) @™, 4.18 %
E ’F~ it i (C) Loss, 6.26 % (D) Gain, 4.18 %
(E) 7 ] (E) Question not attempted
72 fr I Eh—%r 35%ﬁqm q: = 252“ il 72  Amit spends 35% of his salary on food and 25% on
& T T e é?-::[ag T 80% HITH a T children’s education. He spends 80% of the remaining
SR BT feReT ST S T 19 STefet &2 money on rent of the house. What percentage of his salary
(A) 10% (B) 8% he is left with?
(©) 6% (D) 4% (A) 10% B) 8%
(E) orgafd o ©) 6% (D) 4%
73 BT %A T 27,000 T TR BT F AT 13% 37T AT 917 5% (E) Question not attempted
T e T & gramer sars W 9w fomar | afe 4 s sme 3@ | 73 Harish invested a total of € 27,000 on simple interest, partly
ST AT & SR ST EITH:&;W,FI%S%W@HT@?FETW{ at 13% and the remaining at 5% per annum. If he earns
IEENEIRIERVEIRIGETY equal interests from the two investments after 4 years, then
(A) T 13,500 B) T7,500 find the sum invested at 5% per annum rate of interest.
(C) 8,000 (D) T 19,500 (A) 13,500 (B) ¥7,500
(E) 3¥aia 9 (C) % 8,000 (D) % 19,500
> E uestion not attempted
74 78,125 15 TE ¥ AT 1 6% T @ &, Tl e 9 E) Q P
FX. SR SIS SN G 8 w2 74 Find the compound interest on ¥ 78,125 for 15 months at
(A) T 16,645 (B) % 20,290 16% per annum compounded half yearly.
(©) %8065 (D) 35410 (A) T 16,645 (B) 20,290
E ’ N— ’ (C) T 8,065 (D) T35410
(E) o3 ] ) (E) Question not attempted
5T 4§§ ﬁtr{ A 60% Egin sl 75 A sum of money increases by 60% of itself in 4 years on
N 9’22'72[“2 I S W TS kL simple interest. What will be the compound interest on
: - > 82 - < 9,200 in 2 years at the same rate of interest compounded
(A) T2,967 (B) 2,697 annually?
Eg 32,679 - (D) %2976 (A) %2,967 (B) 2,697
EIRNID (C) T2,679 D) T2,976
76 840 ferenfiie aTc weh foremer & dieehi 31 wreforat i e & (E)  Question not attempted
I 5:3 B forat Teferat s st yawr fm s =nfee ffa® | 76 The ratio of number of boys to number of girls in a school
AU 5:4 BV having 840 students is 5:3. How many more girls should be
(A) 100 (B) 105 admitted to make this ratio 5:4?
(C) 125 (D) 175 (A) 100 (B) 105
(E) 3Fgaiaw (©) 125 (D) 175
77w AR, et i A e A g 4:6.0 1 3 (E) Question not attempted
aﬁﬁﬁa}’aﬁm AT e e g 15 m%\%ﬁ e | 77 The ratio of number of green, red and blue balls in a bag is
et Tt 718 82 ’ ' 4:6:9. If the number of blue balls is 15 more than that of red
( A‘S 76 ’ (B) 85 E5E balls, then how many balls are there in the bag?
i A) 76 (B) 85
0 91 D) 95 ita (
EE) —- (D) (©) 91 (D) 95
.) > ) ] (E) Question not attempted
78 s ag S B Eé?ﬁv ﬁl‘l‘i‘}r. i 78 Ankit and Aman invested amount in the ratio 3:2 and the
3 siq = S il ?ﬁo 2'%' ratio between amount invested by Ankit and Amish was 2:1
ST H RN F AR 1,57,300 20 3 C kil for a business. At the end of the year their total profit was
it % 1,57,300. How much amount will be received by Aman?
(A) 48,000 (B) 48,200 (A) T 48,000 (B) T 48200
(C) R 48,400 (D) ¥ 48,600 (C) T 48,400 (D) T 48,600
(E) orgafd o (E) Question not attempted
1 O " A |
Lk3sc. ¢+ 10 10 10 10 2Z@¢ 10 10 10 10 10 10
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79 AfFfiFma2 A dmarare ABIW3 AT FTHRAT | 79 A can do a work in 2 days and B can do it in 3 days. They
232N e & fm wm frm st sm c At fa o worked together for one day and the remaining work was
ToRam g C 3TohetT v FL AT U M L § 39 fohad feq done by C in one day. How many days will C take to do the
I work if he works alone?

(@A) 4 ®) 3% (A) 4 ®) 3%
©) 6 (D) 5 ©) 6 (D) 5
(E) @@ﬂf{ﬁ aq (E) Question not attempted
80 A 19 U TC wyoat b e e 115 <1 778 SHeh! S €T | 80 §reft 19 fow 7w wreqt o fHerm gt 11 & 21 73 SehT 0ok i
ERIPEDIE1E % 9T I
= I (97s9) = 11 (&) T 1 (3153) T 11 (wfen)
a.  TEM 1 faetdfy a. T [ fommEfer
b. faameff . FurEfy b. fommeff I sty
c. T 1. =isH gfyr c. T 1. =S EfY
d. @™ v. ety d. wm v. @
et fou e ket & & Gt ST 1 =91 Fifsu: e fou e okt § @ e 3T 1 9 hifSTw:
(A) a-ILbIV, eI, d1  (B) aIIlb-T1,c-1I,d-TV (A) a-ILb-IV,c-lI,d1  (B) alIl b-1,c-1II, d-1V
(C) a-ILb-1V,c-I,d-TT (D) a-1V,b-II, c-I, d- 1T (C) a-ILb-IV,c-1,d-TI (D) a-1V,b-IIL c-I,d- 1T
(E) orgafd o (E) Question not attempted

81 “INHL IToq H Ih 3G SIATST; 81 ‘AN ITog H SYeh SUET SISy %%%
(A) = (B) ™™ (A) 31T (B) 3ATTH L4
(C) =m (D) 3T (C) 3 (D) =1
(E) a9 (E) Question not attempted

82 TP 1T H I T 82 ST Yo% H I T B
(A) 31 (B) TN (A) 31 (B) ==t
(C) ot (D) 3 (©) = (D) =
(E) 34’:]3?{?{?{;[2{ (E) Question not attempted

83 ﬁﬂﬁ'@ﬁﬁﬁ‘aﬁg’mwﬁaﬁiwqﬁ%z 83 ﬁw%%mﬁﬁ‘sﬁrsmwhamﬁwqﬁ%:

(A) HAT (B) ST (A) T (B) =T
() e (D) et (C) Hem (D) AT
(E) G ERIIGREY (E) Question not attempted

84 IS 3763 A T B AT fofet o ¥1eg 2 84 ST 153  foTC A €1 AT foret i % 2:
(A) 3I=H (B) IS (A) =H (B) ¥+
(C) a3 (D) T&e (C) dId (D) TS
(E) SITafa vy (E) Question not attempted

85 “FoRU U IUER FI T A T, 39 AT F U 3 weg | 85 %ﬁTrr T AT H1  HA 1T, F9 e o fore 3ferd wisg
BT ;

(A) FEm (B) FaT E5E ) fmm (B) Fa¥
(©) STt (D) Fa=A i (©) Sw=Frt (D) FaA
(E) H@ﬁﬁﬁgﬂ (E) Question not attempted
86 formiferiad & & g wisdl 1 = R 86 fererfetfiad & & 3@ wrsal 1 = HIT-
a. IRy b, ufeeT a. THIcHY b. UiEm
c. SEQE d. e c. SR d. weH
e. UTH e. N -
2 fow e et & wed Suh IO 1 = AT et faw e forehedt 3 & Hor ST ST 1 W HINT:
(A) FacTb3ite (B) ¥aeasid (A) Fab R e (B) ¥acasitd
(C) Fab A (D) ¥aeTa e (C) Faab I ¢ (D) Fada e
(E) o=t (E) Question not attempted

37 P 3 - T o 87 feferied 3 & FI7-61 I SRS 7
(A) AT (A) T T S 3
(B) Se Ao 5t 1 S S e v e (B) S SN H 57 H1 T ¥ et it e
(C) Tf-Teil 3 ST HT T FAT & FoHAT 22 (C) ATl 5 TS T T T e 7
(D) e feef ST R (D) H T et < R
(E) oafa ve (E) Question not attempted

> < 4 ) P [OEAOH y P
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frfafaa & & F-ur o <wfery Idum Fer 1 3eEwe?
(A) FAEigae 42T g

(B) tr%maammmlﬂman‘{@%l

(©) et  are w1 A

(D) <ThIER 92 3 =T 2

(E) gafid 9
G-I G TETa 1 37 2-

(A) FTEHT FET (B) TIME FTAT
(C) WeAT-ST gt (D) G qHI% AT
(E) rgafd o

(A) 39T STRTd ST & @ AT
(B) T4 fhT &1 et firetar
(C) Tl = =1 STedt gVt BT
(D) e et i smr-sitera

(E) orgafd 9

e mieft e, Fefafaa 8 9 fre e @ feadt 22 =8
Y gl I9TH forehed =)

(A) AME (B) 39T URTE

(C) SATELHTR &Y (D) &k s

(E) rgafd 9

Treteer | frefafad 3 @ - @ o i gfia 22

(A) T sia (B) S@mHE giet

(C) T=ueT e (D) st

(E) rgafd o

TSR H e T s afismr frefofiad 4 9 e
T o fAafifa 22

(A) s™ (B) W&
(C) HreHdt (D) SO
(E) Fgafasg

WA ST SO (201 1) % SATER, TSR shl Fet ST 1
T ferat wierera SHEEaT oo &5 § &l ofi?

(A) 65% (B) 75%
(C) 85% (D) 45%
(E) rgafd 9

ST FofeT o W & o Tehe SISt et T shiA-41 sife s
T2

(A) THTE ST (B) ©E U Sty

(C) AFarsrd (D) i<t e sire

(E) 3¥gdia g

2011 T SIIUMT o ALAR TS o T8 fofel 3 Trefior &6 o
ST S 2T SIFEEAT Fedt 377ereh off?

(A) TR (B) MR

(C) e (D) SR

(E) 3¥gaiagg

feqor-geff e i It IUSTS JaT el Wi ST =T deer
St TR A e T 2 -
(A) HeX RIS e

(B) Tt wmaet & CEAD
© R
(D) SFHT ATET ISR

(E) 3¥gafa s

s
[\
s,
b2
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frefafaa § & HH-a1 are <wfer a0 Fier 1 3T e?
(A) H TRl gere H 3T €l

(B) feTe SIEHTT T YT L T R
(C) Hiamgl H =g 311 T &l
(D) <HTER 981 2 T 2

(E) Question not attempted
-G FAMT FeTa il 319 2
(A) FTEHAT HET (B) WIS FEAT
(C) HAT-5[0 el (D) T qHI% AT
(E) Question not attempted

(A) 3T TIRTT S@H & T AT
(B) 19 fhT &1 et firerr

(C) Teret &1 T STeet IXa=T BT
(D) e &t i wI-3iisRa

(E) Question not attempted

=]
e
=

The Indira Gandhi Canal originates at which of the following
places? (Choose the most appropriate option from below)
(A) Manpur (B) Dewas Hill

(C) Jawahar Sagar Dam (D) Harike Barrage

(E) Question not attempted

Which of the following is a saline water lake in Rajasthan?
(A) Pichola Lake (B) Jaisamand Lake

(C) Pachpadra Lake (D) Badi Lake

(E) Question not attempted

On which of the following rivers, is the “Bisalpur Major
Irrigation Project” constructed in Rajasthan?

(A) Banas (B) Mahi

(C) Sabarmati (D) Banganga

(E) Question not attempted

As per the Census of India (2011), approximately what
percentage of the total population of Rajasthan lived in rural
areas?

(A) 65%

(©) 85%

(E) Question not attempted

B) 75%
(D) 45%

Which dam is built on Bandi river near Sanganer area of
Jaipur district?

(A) Hemawas Dam

(C) Nevta Dam

(E) Question not attempted

(B) Khalakh Sagar Dam
(D) Bandi Sandhara Dam

Which district of Rajasthan had highest schedule caste
population in rural area as per Census 2011?

(A) Ganganagar (B) Nagaur

(C) Alwar (D) Jaipur

(E) Question not attempted

Rocky feature of south-eastern Rajasthan, composed of

sandstone and limestone rock, with black fertile soil is
known as -

(A) Middle Mahi-Chhappan Basin

(B) Eastern Plain Region

(C) Luni Basin

(D) Deccan Lava Plateau

(E) Question not attempted

12 12 12 12 12 12
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frfeIfiad & & S19-91 THATT T (S 2025 TF), TSTEM H
“HIT I YT HaTferd L TET 27

(A) I (B) SR EgE
(C) g (D) S ¥
(E) ogafid 9

feafafaa & @ = T TS § 9ol S et s
o Ha WaTdT &7 (F 8wl 39 foshed )

(A) TSEI TsT 30T 59 fm

(B) TSR T<T e UiEed g

(C) TSEY™ 94 qitEe fmm

(D) TSR $exfydt v uftaea fam

(E) 3¥gaia g

TSTET § =reT oot Hidt el fbud 2, STet 2008 H e
AT g8 off?

(A) S fepatr
(C) SIS fehett
(E) rgafd 9

What is the official/technical term for- “Something which is
officially approved or granted”?

(A) sanctioned (ﬁ'{aﬁ?ﬁf) (B) revolution Gh'lﬁf )

(C) presidency (¥E4&UE) (D) parole (HYfdse FRIH(H)
(E) gafd 9

TS 3 Aifd 2023 ¥ FATER, TSEAH T | & a4 &
(STRUHT) TST & WFTifeTah & 3 fefaT gfaera 22

(B) WeUHTe fehatt
(D) ATETTE fohat

(A) 8.6% (B) 7.6%
(€) 12.6% D) 9.6%
(E) gaid g

TTEIT S qiferear skl fawifSra s arefl imn T <61 9m
FATE?

(A) =@ (B) HepHIEA @
(C) T TASHETET (D) TSfFTs t@r
(E) rgafd o

Wd 1 -8 FFeffad TsT asea™ & 9re o g
1T T AT 27

(A) USTE (B) I Y

(C) wfmm (D) HeWreg

(E) orgafd 9

TeteT 1 fefefaa verfe § @ wh-of ge@ S=ht 27
(A) g (B) @

(C) T (D) smm

(E) rgafd o

106 Yfrear firgh & s A faeferfaa & @ wi9-91 e era 22

LK33CL {+ 13 13

(A) 3EehT IHTAT HH Bl 2

(B) TSTEUT o Tt T H 39 Yo <l Tt =1 fera siferss
2

(C) 38 YT i Tirgh i STeT emoT eyt 3Aferss Bt 21

(D) @ Ul o s oie T2T o Hror 3uH STt et st=at
et 2

(E) ogafid 9

13 13
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Which one of the following is the only city running the
“Metro Rail” service in Rajasthan (as on June 2025)?

(A) Ajmer (B) Jaipur

(C) Jodhpur (D) Udaipur

(E) Question not attempted

Which of the following is the largest government-run
intercity bus-service provider in the state of Rajasthan?
(Choose the most appropriate option from below)

(A) Rajasthan State Intercity Bus Corporation

(B) Rajasthan State Road Transport Corporation

(C) Rajasthan Bus Transport Corporation

(D) Rajasthan Intercity Local Transport Corporation

(E) Question not attempted

Where is the Chamunda Devi Temple
Rajasthan,where the 2008 stampede occurred ?
(A) Amber Fort (B) Mehrangarh Fort
(C) Junagarh Fort (D) Nahargarh Fort
(E) Question not attempted

located in

What is the official/technical term for- “Something which is
officially approved or granted”?

(A) sanctioned (H&fi&d) (B) revolution (3ifd)

(C) presidency (&q84e) (D) parole (&rsrﬁaa Eb'l'{'l'flﬁ'ﬁ)

(E) Question not attempted

According to Rajasthan Forest Policy 2023, Recorded
Forest Area (RFA) in the State of Rajasthan is what percent
of the State’s Geographical Area?

(A) 8.6% B) 7.6%

(©) 12.6% (D) 9.6%

(E) Question not attempted

What is the name of the boundary line that separates
Rajasthan from Pakistan?
(A) Durand Line

(C) Palk Strait

(E) Question not attempted

(B) McMahon Line
(D) Radcliffe Line

Which of the following states of India does not share its

border with Rajasthan?
(A) Punjab (B) Uttar Pradesh
(C) Haryana (D) Maharashtra

(E) Question not attempted

Among the following peaks of Rajasthan, which one is the
highest?

(A) Taragarh

(C) Raghunathgarh

(E) Question not attempted

(B) Kho EIE
(D) Jarga [=15

Which of the following statements regarding desert soil is
incorrect?

(A) Tt has low fertility.

(B) The western parts of Rajasthan have a high percentage
of this type of soil.

The water-retention capacity of this type of soil is
high.

It has good water drainage due to large pores between
the sand particles.

Question not attempted

13 13

©
(D)
(E)

13 13 13
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TSTE | F 1 ST IR TTFHdF &9 6 Gifea T & g
YT T T SEAHTS T ST Tt 1 1 =71 =61 =1 < 22

(A) SHET = (g3 (B) dfea (@)
(C) s afeh =g (D) 9aT =E
(E) ogafid 9

frafafiaa & @ F-a1 v e1fiirm 2, o osa o fovmm ==
HTET S THfreh e Jee H T Fare @i 1
T A 82 EgE

(A) &I HTEgu E

(B) SmEvfH Heer

(C) Tty SiTferait Ox AT ariRerfarehi g e

(D) €I o JeIeT

(E) 3rgaia g

TS H, St oot 1 sTfirehier Wi forg Tehm o STetamyg
&5 1 37aT 272

(A) 374 T & (B) T3 STy &
(C) ATAESTEaI & (D) I &

(E) rgafd 9

frefeftaa & & H-H 7 e 74t At Tars T4 T 22
(A) Tt Tt (B) ehrefifiter 7&t
(C) S (D) = Tt

(E) rgafd o

‘Office Order’ % foTT 3w fowdt 12 2-

(A) Stz (B) TTEHARE

(C) ufwx (D) FETET ST
(E) gaidud

‘TR o T S frefarfaa | 9 fores e g 22
(A) TTHR IR ST & TeT

(B) fafi= Tt Aferamfet & wer

(C) T FHaRT ST 3Tk qI-TraIf-e & He

(D) TR HRTET 37 YTgaE T o 0

(E) 3¥gaiaug

ST s G O, HATTI-S19 AT 19 T |1 e St
T ST ST T&T &, Y 39 T hed 27

(A) e (B) FATAI-IEIT

(C) SR (D) ARt

(E) orgafd 9

Fill in the blank in the following sentence with the correct
tense:

If he sticks to his exercise regime, he his ideal
weight by the end of this year.

(A) hadreached

(C) is being reached

(E) 3¥gaia g

(B) has been reaching
(D) will reach

14 14 14 14
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What is the name of the grass species, which is traditionally
used to keep rooms cool and naturally aromatic in Rajasthan?
(A) Bermuda grass (Durva)(B) Vetiver (Khus)

(C) Blue Panic grass (D) Sewan grass

(E) Question not attempted

Which of the following is an approach, wherein state forest
departments support local forest-dwelling communities in
forest conservation and natural resource management?

(A)
(B)
(©)
(D)
(E)

In Rajasthan, most of the Jaisalmer district falls under which

In-Situ Conservation

Wetland Conservation

Native Species based Ecological Restoration
Joint Forest Management

Question not attempted

type of climate region?
(A)
(B)
©
D)
(E)

Which of the following rivers is not a tributary of Chambal

Semi Arid Region

Humid Climatic Region
Very Humid Climate Region
Arid Region

Question not attempted

River?
(A) Parbati river

(C) Jawai river

(B) Kalisindh river
(D) Banas river

(E) Question not attempted

=
s
=

‘Office Order’ % foTT 3w foet w1e2 2-
(A) SRt (B) HTEHTH
(C) it (D) R TS

(E) Question not attempted

‘TR T T IAT et | @ fores we gar 22
(A) TTHT 3T SHAT F 7T

(B) fafy= awardt stfermric = qer

(C) TTHRT HUTRT 37T I A-HEI LT o qeT

(D) TR HRATT 37 g ot 6 7e

(E) Question not attempted

ST SIS GLhRT U, HIATI-ST9 3T 19 Ueh 91eF 37k St

I YT SIT 4&T &1, T 3§ &1 hed 82
(A) uftes (B) HETer-smesr
(C) STTEATH (D) ferg=T

(E) Question not attempted

Fill in the blank in the following sentence with the correct
tense:

Ifhe sticks to his exercise regime, he his ideal
weight by the end of this year.

(A) had reached

(C) is being reached

(B) has been reaching
(D) will reach
(E) Question not attempted

14 14 14 14
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Choose the mot appropriate option to convert the given
sentence from Active to Passive Voice:

His employees were mocking him.

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

He is been mocked by his employees.
He was being mocked by his employees.
His employees mocked him.

He was found to be mocked by his employees.

AR 97

sentence from Direct to Indirect Speech:

She said to me, “We are to leave for the theatre early.”
(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

She told me that we were to leave for the theatre early.
She inquired if we were to leave for the theatre early.
She said that we are to leave for the theatre early.

She insisted on leaving for the theatre early.

AT W

Negative Sentence to an Affirmative Sentence:
There is no rose without a thorn.

(A)
B)
©
(D)
(E)

Choose the most appropriate option to convert the given

Roses have thorns.
Thorns are commonly found on roses.
Every rose has a thorn.

No roses without thorns are present.

AR 9

Interrogative Sentence to an Assertive Sentence:
Why waste money on designer bags?

(A)
(B)
©
D)
(E)

Choose the most appropriate option to convert the given

Designer bags are an expensive monetary investment.
It is foolish to waste money on designer bags.
What a waste designer bags are!

Everybody wastes money on these designer bags.

AT w4

Assertive Sentence to an Exclamatory Sentence:
It is contemptible that you are a scammer.

(A)
(B)
©
(D)
(E)

Choose the most appropriate option in order to make the

Alas! What a scammer.

Oh to be a scammer!
5

1 wish you were not a scammer. :
E. HH

Fie, what a scammer you are!

AT 94

following sentence grammatically correct.

Aristotle was one of the wisest man that ever lived.

(A) one wise man (B) one of the wise men

(C) one of the wisest men (D) no correction needed

(E) orgafid 9

15 15 15 15
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Choose the most appropriate option to convert the given
ntence from Active to Passive Voice:
sentence from Active to Passive Voice E5E

His employees were mocking him. E’iﬁ

(A)
B
©
D)
(E)

Choose the most appropriate option to convert the given

He is been mocked by his employees.

He was being mocked by his employees.

His employees mocked him.

He was found to be mocked by his employees.

Question not attempted

sentence from Direct to Indirect Speech:

She said to me, “We are to leave for the theatre early.”
(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

She told me that we were to leave for the theatre early.
She inquired if we were to leave for the theatre early.
She said that we are to leave for the theatre early.

She insisted on leaving for the theatre early.

Question not attempted

Negative Sentence to an Affirmative Sentence:
There is no rose without a thorn.

(A)
®)
©
D)
(E)

Choose the most appropriate option to convert the given

Roses have thorns.

Thorns are commonly found on roses.
Every rose has a thorn.

No roses without thorns are present.

Question not attempted

Interrogative Sentence to an Assertive Sentence:
‘Why waste money on designer bags?

A)
(B)
(®)
(D)
(E)

Choose the most appropriate option to convert the given

Designer bags are an expensive monetary investment.
It is foolish to waste money on designer bags.

What a waste designer bags are!

Everybody wastes money on these designer bags.

Question not attempted

Assertive Sentence to an Exclamatory Sentence:
It is contemptible that you are a scammer.

(A)
(B)
©
(D)
(E)

Choose the most appropriate option in order to make the

Alas! What a scammer.

Oh to be a scammer!

T wish you were not a scammer.
Fie, what a scammer you are!

Question not attempted

following sentence grammatically correct.

Aristotle was one of the wisest man that ever lived.

(A) one wise man (B) one of the wise men

(C) one of the wisest men (D) no correction needed

(E) Question not attempted

1S 15 15

o
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1


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda7

SPACE FOR ROUGH WORK / T% & o feu T

=
]
=

B

IO H 31 Wit @ - et i ST et wtd, odver gl ot aler e sied ¥ qa wieedl 3 o i AT Sfaa e |,
rtterell Tt Toetar el =t 37erT e <6 | Sfiefeh SI0 ST ersh ol e Fid bl A 0 ST e, Feeftar gid =61 e Tid 8 e <15 8 A1
QLT qeeh STerT . itarrefl it di | adeeff fdr gt st st ary o e |

Lk33CL ¢ 16 16 16 16 2 16 16 16 16 16 16



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/
https://www.adda247.com/
https://www.adda247.com/

